
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 
 

1 

CF07 
Honda Africa Twin XRV 650(RD03) 

 
Fitting kit: 

 

 

 

 

 

 

 

 

 

 

 

 

 

We recommend use adhesive glue during assembly. Medium strong. 

 

 

ID Description Cat.N Qt 

1 Bolt M10x30 888 4 

2 Washer M10 804 6 

3 Alu. spacers 122 2 

4 Bolts M6x70 871 2 

5 Washer M6 947 2 

6 Nut M10 810 2 

7 Black Steel holder bigger X75 1 

8 Black Steel holder small X37 1 

9 Bolt „U“ shape X45 1 

10 Alu. Spacers 1184 1 

 4,5 

7 

 3 

 6,2 

9 8 

1,2 

1,2 

1,2 

1,2 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 
 

2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

For rear gripping use 

original bolts and nuts.  

Look out- You have to 

chase left spacer for right 

side spacer. 

 

 


